Beliwork Alg2 Monday, March 18, 2019

1. The pilot of a plane sees the end of the runway with an angle of depression of 38° the moment the
plane is directly over a football stadium. [f the stadium is 2 miles (1mi = 5280 ft) from the end of the
runway, find the plane’s altitude, in feet, at this moment.

2. The function f{x) is created by repeating the pattern below. Use this pattern to answer the following
questions.
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a) Find A7) b) Find x when f{x) = 5 c) Find f{11)

3. Find the area of each triangle. Round to the nearest tenth where necessary.
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3. Find the area of each triangle. Round to the nearest tenth where necessary.
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